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(a) Frmoft

(b) FrTsrit

(c) Freffofi

() Frsfeeft

srwels wee g o Efefee § 8 e o
Té 2
(a) T
(c) TEER
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(a) THEN
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26.

27.

28,

29,

30.

peam of span 'L’. is
entrated load acting
moment of the
de of collapse

ed cantilever
tical concen
The plastic
The magnitu

A propp
carrying & ver
at mid span.

section is Mp-
d will be

f;’f’ 8 Mp/L (b) 6 Mp/ i

(c) 4 Mp/L (d) 2 Mp/

nd List-1land select correct

ist-1a
iy he codes given below the

answer using t
list.

ist -1 List - II
i If):ad load 1. 1S : 875-2015
(Part - 4)
i, Imposed load 2. 1S:875-2015
(Part - 3)
iii. Wind load 3. IS:875-2015
(Part - 2)
iv. Snow load 4. IS:875-2015
(Part - 1)
Codes :
i i il v
@ 4 3 2 1
(b) 4 3 1 2
© 3 4 2 1
@ 3 4 i @

Excava‘gion was being carried out for a
foundation on plastic clay with a unit weight
of 22.5 kN/m3. Failure occurred when a
depth of 8.10 m was reached. What is the
value of cohesion if ¢ = Q° ?

() 11.4 kN/m? (b) 22.8 kKN/m?2

(c) 45.6 kN/m?2 (d) None of these

Rivets unde i

_ r combined stresses
Subjected to g limit as et >
Where, 1, and ¢
tensile stresges i
Toand o . =
viand g, =

tf = Allow
rease, e able shear angd tensile
TIVets, respectively.

;= Thc_e actual shear and
n the rivets, respectively.

@ b, o
) 1 +—-.t._S20

¢

v o, (b) ;L+EL$1_5
(c) ‘t‘!--p S ¥ O

t\rl' ‘-U-:;SI.O (d) El_+0t
In a Stee] pl Tot _C;; Als
Tupture oy - © With bo}

f L tEd Co »
under et section ig g mngecuml the
(a) Tensioy, Ode of failure
(c) Flexure (b)
Compr .
(d) She. ession
ar
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30.
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qre ‘L' 3 3% SRl 9 F I U1 W G ety

3 W T T I I WA I M, R g
W 1 GRETT &

(a) 8 Mp/L (b) 6 Mp/L
(c) 4 Mp/L (d) 2 Mp/L
geft - 19 gt - 11 =t gafera R A R R my
T 1 ITINT HTH TE IR A
g -1 et - 11
i, 3T UK 1. 1S 875 -2015
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i, AR R 2. IS : 875-2015
(T - 3)
iii. g WR 3. IS:875=2015
. (HTT-2) /
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(MTT - 1)
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i # il v
(@ 4 3 2 1
b 4 3 1 2
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@d 3.4 1 2

o g % R gerd H W, S g gow W
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£ TewE 8.10 m T W 7% frww 2 21 A
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(a) 11.4 kN/m? (B) 22.8 kN/m?
() 45.6 kN/m?  (d) ¥ & %§ T
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e, 7, 31 o, = Fedle # sor: et el
T gfaEa|
rﬁaﬂtofﬂazﬁm: whert el i
e |

Ot

T g
@ 2eZg20 p) Er—-SLE

Ty Oy Tvi  Od

_TL Et.. 1.0 _5’_.+_91,$1,4
(© Tof ¥ Oy : o Tvi Ot
die¥e Se A T e =T ¥, F qe
Wﬂﬁﬂ(mpmre)wiﬁﬁmﬁli
(a) T (b) Edfiet
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‘1 In the design of steel structure, for the | 31. FeaRl Gl I HlEpunt 7 o =2 ©

purpose of designing any member, the load

generated due to secondary effects include

1. Due to contraction or expansion from
the temperature

2. Due to differential settlement of
structure

3. Due to accidental loads

%ﬁawmﬁﬁmwmﬁw%ﬁw%
| e & T e S feRr
0. G 1 IR e & B

3. IS W % FRY

4. Jehdi (eccentric) SiTg & T

4. Due to eccentric connections (a) Fae 1 3t 3 (b) +ad 1, 2 3R 3
(a) Only 1 and 3 (b) Only 1,2 and 3 5 3 3 4
(c)Only 1,2and 4 (d) 1,2,3and 4 (c) Faet 1,234 (d) 1,2
39. Tor sand of uniform spherical particles, the | 32. @HH Thd hl Tivet T ATl ae] 1 TR 3N
void ratio in the loosest and densest state, Ty STET % Rfeq arama Has: Ul
are respectively 0.91
(a) 0.91, 0.35 (b) 0.35,0.91 (a) 0.91, 0.35 jf 0.39,Q.
(c) 0.65, 0.09 (d) 0.09, 0.65 (c) 0.65, 0.09 (d) 0.09, 0.65
33. Prying forces are 33. UET A 8
(a) Forces due to the friction between
connected parts (a) 37 T WP & T GH0 & HROT T
(b) Bending forces on the bolts because of
the joints (b) ST % HRU Fegd T A7 T
(c) Shearing forces on the bolts because of
joints

(d) Tensile forces due to the flexibility of
connected parts

34.

(c) 5§ & HRUT Segd W forfer ¢
(d) T3 ATt qFT F AT F BT G w9

The constant of proportionality between seepage | 34. &= 37 3t S=fiy H % qumﬁlm s
velocity and hydraulic gradient is called 1 B T B R
(a) Seepage coefficient (a) FE= o
(b) Coefficient of transmissibility (b) WREoTETET T
(c) Coefficient of percolation (c) A=THT T[T
(d) Modified coefficient of permeability (d) 3R SraTEraT MU
35. The Poisson’s ratio for soil sample 1 and 2 3S.
d ively, If L1 p5 anl—l-l?re WWI@?Q%MWWW'
K, an respectively. If =—=1.5and ——= Hy - .
e " kg 1=, ulaﬂtuzglqﬁﬂfl'mﬂt%’"h'-*&a?s
0.875, then ratio of coeff. of earth pressure at rest A A 1}5‘3{?—[ “H2
for soil sample1(K;) to coeff. of earth pressure , LK) 3 e 2 Ky % ford e
4 K
at rest for soil sample 2 (K,), —L will be T K
| K, , A T T w7 s El_ B
(a) 1.3125 (b) 1.7143 (a) 1 -
: 3
(c) 1.9687 (d) 1.8213 (c; 1 9;? P8 g
‘ (d) 1.
36. A 300 mm square bearing plate settles by | 36. Wgwy i HELE
21 mm in a plate load test on a cohesive 0 TR e e § wwe 61 e
soil, when the intensity of loading is 2 N/mm? "
P Nkl g 300 mm sfeR
2 N/mm’ . The settlement of a prototype 21 mm 6 qug Nu i
shallow footing 1 m square (Im x 1m) under wf 21 vt RS dtear o 1
the same ntensity ofloading (considering both b Ha R UET 4 gt ¢ o 3
plate and footing are placed at same depth) is 5 e T T L - L3
(8) 15 mm (b) 70 mm (@) 15 mp T Fafey )
% (c) 50 mm (d) 167 mm () 50 m (b) 70 mm
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37.

38.

39.

40.

41.

42.

The flange splice in plate girders 1s preterably
placed near about

(a) Mid span section

(b) Quarter span section

(c) End section

(d) Any section

In a drained triaxial compression test conducted
on dry sand, failure occurred when the deviator
stress was 218 kN/m? at a confining pressure
of 61 kN/m?. The effective angle of shearing
resistance and the inclination of failure plane
to major principal plane will be

(a) 34°, 62° (b) 34°, 28°

(c) 40°, 25° (d) 40°, 65°

A steel section is subjected to a combination
of shear and bending actions. The applied
shear force is V’ and shear capacity of the
section is ‘V'. For such sections, high shear
force (as per IS : 800 - 2007) is defined as
(@) V>0.6 Vg (b) V>0.7V,
(©V>08V, (d) V>09V,

A pile 450 mm in diameter and 15 m long
is driven into a soft clay. The undrained
strength of soil varies linearly with depth
such that Su = 0.220,. Determine the
allowable pile load capacity using total stress
analysis. The factor of safety required is 2

and Yg,, = 17 kN/m?3. Ground water is at
surface.

(a) 286.1 kN (b) 252.0 kN

(c) 95.4 kN (d) 84.0 kN

Torsion resisting capacity of a given RC section

(a) Decrease with decrease in stirrup
spacing

(b) Decrease with increasing the number of
longitudinal bars

(c) Does not depend upon stirrup and
longitudinal steel

(d) Increase with the increase in stirrup
and longitudinal steel

What will be the natural frequency of a
machine foundation which has a base area
of 2.20 m % 2.20 m and a weight of 155 kN
including the weight of the machine ? Take
the value of the coefficient of elastic uniform
compression as 4.4 x 10% kN/m3.

(a) 29/= (b) 58/n

() 116/xn (d) None of these

-6-

37.

38.

39.

40.

41.

42,

I T W TS TARH JHOHAG: T T A &
(a) 7e A7 Ww

(b) =huT$ A7 W

(c) ¥f=m wm

(d) Toreft oft wm

U gd e F TR T 7S grRefraae gt whteqor
T wran afi ferere wfoeet 218 kN/m?2 3tk it
T 61 kN/m? W 41 % g3 30 o0y wvreht
wH vy F1 v 3 faweran a9 w1 gew yum
A FHE BT

(a) 34°, 62° (b) 34°, 28°

(c) 40°, 25° (d) 40°, 65°

& T we s wa Aua frared & waew &%
atfiw 3| v foddss @te1 ‘v R, 3R e A fodw
oAl 'V, 31 39 TBR i w5 o I=u fodw
& (IS : 800 - 2007) & TR qRowifya gren &
(a) V>0.6 V, (b) V> 0.7 Vg

(c) V>0.8 v (d) V>0.9V,

T$ 450 mm E TH 15 m o= 918a (912)
we et it & sen s @1 ger i smEfEa
(undrained) amed, TEUE ¥ Y &Y w9 o
wRafia et R, S &% Su = 0.220, F FET 1
Tt wferarer foveryn fafyr & amum W sma=r gz
(91Q) VR &Han TTa HIR | G qeeh & 2 B,
AW Y, = 17 kN/m3 B Yot Tag | @@ 2
(a) 286.1 kN (b) 252.0 kN

(c) 95.4 kN (d) 84.0 kN ;

e

fd M vafoa wshie Tiesg i s whkvs
&

(a) ThTE & o SR TTW W HE B

(b) FHeeA B A FET T W wedt ]

(c) A T T T R PR T el R
(d) e Teu SN W Fagh W wed

[r
¥
‘

_?

o W & Ha B wnfe sy w0 Al R
Ik AU 1 BTFA 2.20 m x 2.20 m T4 7
|t e 1 WR 155 kN & 7 Searey g e
Ol AW 4.4 x 10% kN/m3 R w2 |

(@) 29/n (b) 58/m

(c) 116/n (d) T & T
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43.

44,

45.

46.

47.

An isolated T-beam is used as a walkway.

The beam is simply supported with an

effective span of 6 m. The effective width of

the flange for the cross-section shown in figure is
1000 mm

- £
& ESO mm
)

600{mm

—+

300 mm

(a) 900 mm (b) 1000 mm
(c) 1259 mm (d) 2200 mm

As per Rankine Analysis, the minimum
depth of foundation (D;) will be

Where, q = intensity of loading
¥ = unit wt. of over-burden
¢ = angle of internal friction of soil

12 o . E

q 1-sin¢ | 1-sin¢
@) y[l+sin¢_ (®) y|1+sing
. A 7 . 12

9 g[m @ 3fLsin®
y|1-sin¢ | y|1-sing

Factored shear force of 140 kN is applied on
a beam having breadth 250 mm. The beam is
also subjected to factored torsional moment
of 20 kN-m. The equivalent shear force on
the beam is
(a) 298 kN

(c) 268 kN

(b) 348 kN
(d) 300 kN

The net ultimate bearing capacity of a Purely

cohesive soil

(a) Depends on both, width and depth of
footing

(b) Depends on only width of footing

(c) Depends on only depth of footing

(d) Is independent of both, depth and
width of footing

A reinforced concrete wall carrying
vertical loads, is generally designed as Per
recommendations given for columns. The
ratio of minimum reinforcement in the
vertical and horizontal direction 1s
(@)2:1 B 1xl

c)5:3 (d) 3:5

43.

44,

45.

46.

47.

ENGT - 03

@mﬁ—mmwﬁgmﬂaﬁﬂtlm

RT3 et 6 m S e areht 21 e A g
T Sy we % Rl v o ol < @
" 1000 mm ¥

a8 150 mm
600|mm

B 300 mm

(a) 900 mm (b) 1000 mm

(c) 1259 mm (d) 2200 mm

YT RIINTT 36 ST el bl = e (D)
gt

W&, q = wfen (¥R) hi dfigar
y = FAeRaeA (M WR) F T ToF
¢ = TG I ST TV HI0

(@) g'l—sinq;_2 g[l—sinq:-
Y| 1+sing y|l1+sin¢
N i ] 92
©) q 1"'3%114’ d g|:l+8fn¢
YL1-sing | y[1-sing ]
250 mm g UF ¥ W 140 kN 1 7k HGEq0]
oo 3R 20 kN-m &1 705 31t e Rear s
R T T AR ATE T A
(@) 298 kN (b) 348 kN
(c) 268 kN (d) 300 kN

TF T4 FIe Ja1 H IG T (Net ultimate)
e e

(a) Fofe Felt R, 3MUR (footing) &
' ooting) I S ik

(b)ﬁﬁtaﬂaﬂ%,%ﬁam(fooﬁng)ﬁﬁ\aém
(c) P el 3, et 3 (footing) 6t mead W
(d) 31, 3mum (footing) <t Her afx ES
< ¥ = ,
TR TR N aeht @ R deie AR A
;”;,;“‘* TR T Y I % AR A
R S vd A R § o e e

ST T I R
(@) 2:1 bl 1.
©5:3 {d;;;

| i e
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48.

foundation soil gives

nducted on
I <20,

N < 5 and density index,
the foundation will fail in
(a) General shear (b) Local shear
(c) Punching shear (d) Sinking shear
49. AsperlS: 456 - 2000, the range of standard

concrete 18
(a) Mgs ~ Mss (b) My - Mss
(d) None of these

(c) Mys—Mso
50. Theoptimum moisture content of a clay soil
is 24%, whom compaction test is conducted

at 30% moisture content, its structure will be
(a) Flocculated (b) Single grained
(c) Honey comb (d) Dispersed

As per IS : 1893 - 2016, the storey drift in
any storey due to minimum specified, design
lateral force, with partial load factor of 1,
shall NOT exceed ‘X’ times the storey height.
The value of X’ is

(a) 0.020 (b) 0.002

(c) 0.040 (d) 0.004

52. For any applied stress, zone of influence
refers to isobar corresponding to
(a) 20% (b) 15%

(c) 10% (d) 5%

53. The ring beam of a Intze tank carries a
hoop tension of 120 kN. The beam cross-
section is 250 mm wide and 400 mm
deep, and it is reinforced with 4 bars of

20 mm dia of Fe = 415 grade. The modular
ratio of concrete is 10. The tensile stress

(N/mm?) in the concrete is
(a) 1.02 (b) 1.07
(c) 1.20 (d) 1.32
54. In a flow net drown below a sheet pile
wall, the number of flow channels and
head drops is 4 and 12 respectively.
If the difference in the upstream and
downstream water level is 3 m, what is
the discharge per meter width of a sheet ?
K=0.1 m/sec.
(a) 1 m3/s/m
(c) 0.01 m3/s/m
B % 400 D 18 Dreateere o

force of 400 kN at an eccentricity 10
The maximum compressive s rengtguir;i

concrete 1s
(b) 5.0 N/mm?2

The test €O
gpT value )

51,

(b) 0.1 m3/s/m
(d) 0.001 m3/s/m

(&) 2.5 N/mmg
(c) 7.5 N/mm (d) 12.5 N/mm?

48. wH g Fi Bt | wlgonw=r SPT 41,

49.

50.

P

52.

53.

54.

55.

N < 5 3f e g, I < 20 8, i

AGHS Bt _
(a) AT i A (b) T Fdd A
(c) dfém @ H (d) TafeT T o

IS : 456 — 2000 ¥ AR, TH Hhie 1 I 8
(a) Mys — Mss (b) My - Mss

(c) Mys — M5 (d) ¥H & w13 T

@%@ﬁqaaﬁwwaﬁqm 24% ¢,
Ja 39 W GEA g{ET 30% 1 & AT W fH
ST qY, G G Bl

(o) TS () (b) T B (T )
() T Fea () (o) Feres (R )
. 1893 — 2016 & IIER, fopeft wfvrer (at) |

e e ——

g
o
[=}
o
¥}

(a) 0.020
(c) 0.040 (d) 0.004
fecft off T T whvee % R et = =
aeEER & wehfd B 8

(a) 20% (b) 15%

(c) 10% (d) 5%

wh 35 & ge@ 9@ W 120 kN FT 90 a6
mw%:mﬁmmzsommaﬁ
400 mm Ted & 3R Fe — 415 #vft %t 20 mm
s7a £ IR Ol & vaferd 81 Alg hehie I HISLTR
(modular) g9/ 10 2, Wshlc § PIGCR
(N/mm?)

(a) 1.02 (b) 1.07

(c) 1.20 (d 1.32
wmmm%ﬁw@ﬂzﬁmm,
mﬁwﬁ%ﬁaaﬂt%z@qaﬁﬁmmmaﬁuz
2| af wgE it S few (upstream) 3R ¥&E
& = & fe (downstream) § Soaa (water
Ievei)wmsmﬁl,aﬁﬁzaﬁ%:ﬁéuﬁrtﬁ.
Sgr <ter # B aTet fdes I AT @@ vt ?
K =0.1 m/sec.

(2) 1 m3/s/m (b) 0.1 m3/s/m

(c) 0.01 m3/s/m  (d) 0.001 m%/s/m

200 mm x 400 mm 3RATHR SIITEY FHIE Hi T
%3817 U 100 mm IehEaT TS 400 kN & &
ﬁm%réﬁzﬁwﬁtﬁmma

(a) 2.5 N/mm? (b) 5.0 N/mm?
(c) 7.5 N/mm? (d) 12.5 N/mm?
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Eaax
56.

57.

58.

59.

60.

61.

62.

63.

Shrinkage limit of clay whose void ratio in
dry state is 0.55 and Sp. gravity is 2.75,
will be

(a) 20% (b) 5%

(c) 5.5% (d) 10.0%

The flexural strength of M-30 concrete as
per IS : 456 - 2000 is

(a) 3.83 MPa (b) 5.47 MPa
(c) 21.23 MPa (d) 30.00 MPa

The most useful geosynthetic physical
property which is closely related to engineering
Mass per unit area

erformance is
a) Thickness lbl
c) Strength d) Stiffness
For a singly reinforced balanced section, Mu,
lim = Ru, lim.b.d?; for M-20 grade concrete and
Fe-415 steel, the value of Ru, lim will be
(a) 1.995 (b) 2.660
(c) 2.761 (d) 2.978

For the clay with an OCR of greater than
4 in a CD test, the A-factor at failure
will be

(a) Zero

(b) Positive (less than 1)

(c) Negative

(d) Positive (more than 1)

In the design of reinforced concrete beam,

the requirement for bond is NOT getting

satisfied. The economical option to satisfy

the requirement for bond is given by

(a) Bundling of bars

(b) PrwidingsamediamehcrbarsmmEannbcr

(c) Pruvidingla:@rdjameterbarslessinnumber

(d) Providing smaller diameter bars more
in number

As per IS : 1892 - 1979 what should
be the maximum thickness of cutting
edge of sampling tube of 70 mm external
diameter which is required for sampling in
undisturbed stiff clay soil ?

(a) 2.15 mm (b) 3.05 mm

(c) 3.95 mm (d) 6.10 mm

The lateral ties in reinforced concrete rectangular

column under axial tension are used to

() Avoid the buckling of the longitudinal
steel under compression

(b) Provide adequate shear capacity

(c) Provide adequate confinement to concrete

(d) Reduce the axial deformation of the column

9.

56.

57.

58.

59, T

60.

61.

62.

63.

O

et firdt o1 o ] H 10 23
O 275 4, @ T foger 4T
(Shrinkage limit)

(a) 20% (b) 5%

(c) 5.5% () 10.0% |
IS : 456 — 2000 % TR M-30 FhIC I T
(flexural)

(a) 3.83 MPa (b) 5.47 MPa

(c) 21.23 MPa (d) 30.00 MPa

Fad g Rrfadfes ifes IO N frerea
st yeda @ Tt

(a) TS (b) T BTG G
(c) T (d) T

T vEf v FE 8 My, lim = Ru,
lim.b.d2 &, A M-20 &R % Hshic & Fe-415 ¥
¥4 Ru, lim %1 7

(a) 1.995 (b) 2.660

(c) 2.761 (d) 2.978

T T % geia et (et e (CD test) #
Ffey wo g9 (OCR) 4 g a1ftrs 21 faweran
R A-TUTI 1 JH B

(a) T

(b) EATCHS (TF & FH)

(OESIRED

(d) VTR (TH |/ i)

mﬁzmﬁaﬁwmﬁ,ﬁgﬁmw
He TR T @ R e i Sl B GG F
¥ R v Ron Rrwmadt fraea §

(a) B! 1 TZ T

(b) T ST Y TS ST FET H TGH b

(c) T TE I B FH G H YGH Hloh

(d) B =T it TS TATET HEAT A WG Fh

Wl fear 1892 - 1979 ; % AR T el
(sampling tube) e s180 =™ 70 mm %,
Bl %: F3R ga 7g1 (undisturbed stiff clay
soil) % Tt & & o s At el &, T TR
e U ifreran A w At ?
(@) 2.15 mm (b) 3.05 mm
(c) 3.95 mm (d) 6.10 mm

A T T I AR AR A T
bbbl

3 el YR e e
sl h il
(c) e i Tl wehTe 3 B
(d)mﬁ@{&ﬂﬂﬁﬁmmh
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64.

65.

66.

67.

68.

What is the correct mathematical expression
for the assumption ‘consolidation is
occurring under small changes in effective
stress’ made in arriving the differential
equation for transient f]

g ow during
one-dimensional consolidation ?
All are standard notations.

(a) a, = constant

1
) (1+ep)
(¢) ¥y = constant
@n= =

Tw

dx.dy.dz = constant

Fire resistance of RCC mem
upon

1. Member size
2. Cover of steel reinforcement
3. Type of aggregate

(a) Only on 2 (b) Onlyon 1 and 2
(¢) Only on 2 and 3 (d) 1,2and 3

ber depends

A 16-pile group has to be proportioned in
a uniform pattern in a soft clay with equal
Spacing in both directions. Assuming any
value of cohesion, taking a= 0.7, neglecting
the end bearing effect and assuming pile circular
of diameter ‘d’, the optimum spacing (s) of piles
in group will be

(@) 1.64

() 3.3 d

(b) 2.6 d
(d) 4d

The principle used in finding the recoil
velocity of a gun is

(@) Work-energy principle

(b) Energy conservation principle

(c) Conservation of linear momentum
(d) Newton’s law of collision

What is the critical height of the slope of
infinite extent having a slope angle = 25°,
if it is made of clay having C = 30 kN/m?2,
¢ = 20° e = 0.65 and G, = 2.7, when the
slope is submerged ?
(@) 22.25 m

(c) 35.40 m

(b) 6.51 m
(d) 40.23 m
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64.

65.

66.

e7.

68.

(a) a, = s

1 .
(b) mdx.dy.dz = feris
(c) v, = o

@h= 2
Yw

wi%mﬁﬁzéﬁzﬁaﬁi‘nﬂmﬁt&mt
1. ¥T9 ¥ HR |

2. YT o & T ©

3. Trer Py (aggregate) ¥ @R w
(@) ¥ae 2 W (b) %aer 1 sk 2 |
OFE23R3® (9 1,233 w

T 16 TS & UTEA g H AT e § woa
T TR g A & Pl R sar 8 e
BB A T A 'R, o= 0.7, e F A 3=
WR & 99T Y Iféa e 12 3k s s
‘d’ AR AFd g, UsA wgg A yrEet % @i
¥ (optimum) gl (s) Bt

(@ 1.6d (b) 2.6d
(c) 3.3d (d) 4d

;};ﬂ;@;‘ﬁwﬁﬁraﬂmﬁﬁﬁmwm

(a) -t fagrr
(b) St e g
(c) Yefta Imam = e
(d) =T % T w1 Fram

T 25° F1A N aR F1E, oo R w L, |
1 e =T (critical height) w7 8, AR ;
7g oot Pt % w1 % otk ¢ = 30 kN/m2, |

¢ =20° e = 0.65, 3 G, = 2.7 faffeexi =1 8,
v fe g ot g gan @ 7

(a) 22.25 m (b) 6.51 m
(c) 35.40 m (d) 40.23 m

A
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69.

70.

i

%

A simply supported beam of span ‘T carries a
uniformly variable load of intensity wgx over
its entire span. Maximum bending moment
in the beam is

3
) T o T 0)
a7 27
wol® (+2) e
B 2 (d) Yoo
9 9

The principal design criteria for foundations
for reciprocating machinery are as follows :

1. The natural frequency should be atleast
40% away from the operating speed of the
machine.

2. The amplitude of motion of the
foundation should not exceed 0.2 mm.

3. The pressure on soil should be within
the respective permissible values.

4. For preliminary design, the maximum
pressure on soil due to static load,
alone may be taken as 0.4 times the
corresponding safe bearing capacity.

(a) 1, 2, 3 and 4 are correct
(b) 1, 3 and 4 are correct
(c) 3 and 4 are correct

(d) 2, 3 and 4 are correct

The centroid of semicircular area of radius
s

3r

3 bl

(a) Z_n{ (b) =
© 3t (d) 24
3n 3n

Due to rise in temperature, the viscos.ity
and unit weight of a fluid percolatlr:g
through a soil mass, are reduced to 80./0
and 90% respectively, if other factors rle?nam
unaltered, the coefficient of permeability

(a) Increases by 12.5%
(b) Decreases by 12.5%
(c) Increases by 28%
(d) Decreases by 28%

69.

70.

71,

T2
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T YR e e 3| e g
W GYF 9 & qhadl @ R disa wx &, @
| T § WEw A9 ST BT A B

3
) o (b) i
27 27
T DY s
9 9

T Yt wefe % e i ger aifieey A
ﬁﬂﬁf@ﬂﬁﬂ'ﬂ%:
1. Il NgRT 1 7H FH d 9 40% WA

R g T A A T

2. #ia &t 7fq F1 3™ 0.2 mm ¥ FAVF 7
B =R

3. T W G, i Wi 0F & S BT 9|
4. IR ey % o, Faa ©ifs wr

R T T AT T FTE e T
&GHAT 1 0.4 T forn S aehat B
(@ 1,2, 334w ¢
(b) 1,33 4 g ¥
(c) 339 4 wd &
(d) 2,33 4 wét &
T P At anfamrem & @ e 2
3r 3r
o= ) =
{g) 9% @ S5r
3n 3n
U 4 ¥ G 95T A 5 WA T IR

¥R, THH de | Tea 5 80% 3R 90% &
S R, IR o e st @ g, @ 36 g
1 AT ToreR

(&) 12.5% wg sRm
(b) 12.5% gz s
(c) 28% w7 SR
(d) 28% Tz s
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l.‘EE..‘: I!Iﬂ.‘.*

73. The vertical support reactions R, and Ry for

A

the given beam is

10 kN/m
f 45 kN-m

,%L_m
Ra

74.

75.

76.

W

B

(8) R, = 25 kN, Rg = 15 kN
(b) R, = 15 kN, Rg = 25 kN
(c) R, = 12.5 kN, Ry = 27.5 kN
(d) R, = 27.5 kN, Ry = 12.5 kN

The grip length for well foundation of railway
bridges is taken as of maximum

scour depth, generally, while for road bridges

of maximum scour depth is
considered adequate.

(a) 30% and 30% respectively
(b) 50% and 30% respectively
(¢) 30% and 50% respectively
(d) 50% and 50% respectively

A two members truss ABC as shown in
figure. The axial force (in kN) transmitted
in member AB is

‘. : l1m ¥
33 B
0.5m
10 kN
s
(a) 40 kN (b) 10 kN
(c) 20 kN (d) 30 kN

The total and effective vertical normal stresses
at a depth of 5 m below the top level of water in
a 7 m deep fresh water lake are respectively

(a) Zero and zero
(b) 0.5 kg/cm? and 0.5 kg/cm?
(c) 0.5 kg/cm? and zero

(d) 1.0 kg/cm? and 0.5 kg/cm?

-12-
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73. AT we ) Al 3% SR R, R E

A

10 kN/m
f 45 kN-m

N
%’ - Sle 2m ¢ 4 m ,%RB
Ry

74

A

76.

(a) Ry = 25 kN, Rg = 15 kN
(b) Ry = 15 kN, Rg = 25 kN
(c) Ry = 12.5 kN, Ry = 27.5 kN
(d) R, = 27.5 kN, Rg = 12.5 kN

H: 3 Ag 2 $IT A1 ! Thg THTs, Hgaq
TRENH TEUS HT - <t 9t 8, 9«9 R
TeH Ug &g e UREeH TEUs Rl
WTeq AT ST 21

(a) FERT: 30% 3R 30%
(b) SFAS: 50% 3R 30%
(c) FHM: 30% 3R 50%
(d) SFERI: 50% 3R 50%

! wewfl 78 ABC St T fo o quiar w7 81 9w
AB ¥ Ufta meftr a1 (kN H)

i 1m L
“1
= B
IO‘S m
10 kN
c
(a) 40 kN (b) 10 kN
(c) 20 kN (d) 30 kN ﬁ

34
¥
]

et 3 ¥ T A D 5 m e wp A
el Feater grmer yfwe, & 7 m el 9E h
e oiiet & HuE: B {
(2) T 3

(b) 0.5 kg/cm? 3 0.5 kg/cm?

(c) 0.5 kg/cm? 3R Y=

(d) 1.0 kg/cm? 3 0.5 kg/cm?

e - s
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o b0
b

T.

600 N <

78.

79.

80.

81.

_ Aix o )2

Four forces having magnitudes of 200 N,
400 N, 600 N and 800 N, respectively acting
along four sides (1 m each) of a square
ABCD as shown in figure. Determine the
magnitude and direction of the resultant
force from ‘A’ along the line ‘AB’.

400 N
A

D 1m C

B
A > 200 N

v

800 N

(a) 4004/3 N, 3.2 m from A
(b) 400v2 N, 2.5 m from A
(c) 300v2 N, 2 m from A
(d) 300+/3 N, 2.5 m from A

Group of the constituents of cement in
decreasing order of their contribution to the
strength of cement is

(a) C3S, C,S, C;A and C,AF

(b) C;S, C3S, C;A and C,AF

(c) C;S, C4AF, C4A and C,S

(d) C38, C3A, C,S and C,AF

A bullet of mass 30 gm leaves the barrel of a
gun with a velocity of 500 m/s. Suppose, the
force lasted, for 0.0018 seconds, the average
impulsive force is
(a) 5333.33 N
(c) 7333.33 N

(b) 6333.33 N
(d) 8333.33 N

The time which results in the least possible
construction cost of an activity is known as

(a) Normal time (b) Optimum time
(c) Crash time (d) Standard time

A particle undergoes a simple harmonic
motion, the acceleration of the particle at a
distance of 1.5 m from the centre of motion
being 6 m/s?, the time of oscillation in
seconds is
(a) 2.00

() 3.14

(b) 4.00
() 6.28

PR
A%

T
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78.

79.

80.

81.

4o

e k T (]’(D
400

—ENGT - 03

R & fomem gfom s 200 N, 400 N, 600 N
T 800 N 2, S &t ABCD i = g3, T
(1 m) W Fiw &, e 5 fo o ot 7w 2 1
A Y@ AB % ary wfomdt wq @ afwmn 3
feam wma =

400 N
A

D Im C

A > 200 N

v
800 N

(@) 4003 N,32mAQ

(b) 400v2 N, 2.5m A

(©)300V2 N, 2 mAd

(d) 3003 N,25m A

%ﬂﬁaﬁ;mﬁﬁmﬁ‘éﬂﬁ?mﬁq}m
YR W 79 59 fa=y g %

(a) C3S, C2S, C3A 3ﬂ1 C4AF
(b) C;8, €48, C4A 3K C,AF
(€) C,8, C,AF, cya 3R C,8
(@) €38, C3a, C,8 3 C AR

i3 30 gm % Tt v e B T 500 1
/s

% I o 2 | ATt 36 = 0.0018 e s

T R, 7 st swfon (impulsive) &1 g &

(2) 5333.33 N (b) 6333.33 N

(c) 7333.33 N (d) 8333.33 N

T ity (activity) = RLCRtEI
ﬁl@iiﬁﬁaﬁwaﬁw;ﬁ%m *
(a)mw (b) g™ Fw

(©) Heer wmy (d) wFS 7
RRAGE R T T T e—
T EFZA 1S m gl W 6 m/s2R, ar g
T deveg § g
(@) 2.00

 (b) 4.00
() 3.14

(d) 6.28
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82.

83.

84.

85.

86.

87.

88.

89.

Which of the following constituent, present

in excess quantity, changes the colour of the
brick from red to yellow ?

(a) Alumina (b) Silica
(c) Lime stone (d) Iron Pyrite

The coefficient of friction is the ratio of

(a) Limiting friction force to the normal reaction

(b) Limiting friction force to the weight of
body to be moved

(c) Sliding friction force to the normal reaction
(d) None of the above

Addition of fibres in concrete results in

(a) Modest increase in compressive
strength

(b) Increase in ductility
(c) Enhanced toughness
(d) All of the above

The D’Alembert principle

(a) is a hypothetical principle

(b) provides no special advantage over
Newton’s law

() is based upon the existence of inertia force

(d) allows a dynamical problem to be
considered as a static problem

A pozzolonic material must he composed
mainly of

(a) Microscopic silica

(b) Microscopic and Amorphous silica

(¢) Microscopic and Crystalline silica

(d) All of the above

Lame’s equations are applicable for
(a) Thick cylinder

(b) Thin cylinder

(c) Thin spherical vessel

(d) Beams

Blow holes in concreting are result of
(a) Excess water-cement ratio

(b) Insufficient workability

(c) Improper design of shuttering

(d) None of the above

In terms of bulk modulus (K)
of rigidity (C), the Poisson’s
expressed as

and modylus
ratio can be

3K - 4C 3K +4¢C
(@ 6K +4aC (b) 6K —4c
3K - 2C 3K + 2C
© ek +ac 0 S —3c
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85.

86.

87.

88.

89.
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ﬁnﬁﬁmmaﬁ@rﬁmw%wﬁﬂ
1 T} e & S R g

(a) T (b) Referam

(c) T ®R (d) 3R TR

T U7 I R

(a) Hifira wdw w07 3tk i wRfen

(b) ¥ifi endor st ik Ry ) Ay Rve 7 R

(c) T2 ww 7@ 3R e sRfear
(d) 3w & | Fi$ 7

FhIe § B e @ ey whom 29 §

(a) TfeT T & el et

(b) = & g

(c) SR (toughness) 4 qEid

(d) I At

B'wemed firgrg @

(a) T el Rgr 2

(b):@:%ﬁaﬁmﬁfﬁ&quﬁ@m

(c) ST 61 % AR W o 2

(d)nﬁﬁﬁummt@rﬁmm'ﬁm%m%g
Il o 3

T et vard # e 8 §

(a) foqew Rl

(b) ITeqET T 3wHR Rifererr

(c) e & Hrcorgsa Rt

(d) 37 wfh
éﬂﬁmﬁnﬁwﬁgﬁ%%&mﬁrﬁ%
(a)’ﬁ'l’ﬁlﬁgt

(b) Tt frefex

(c) T T T (Thin spherical vessel)
(d) &

FhEn A st e, o 61 oo 3
(&) FA-HA= 9T 1 arfiremar 5

(b)mszn( ) & fewms
(c) shuttering RRRES|
(d) I & ¥ 9 7E
quaﬂma%mmim(x)aa‘kmm(cl
%Wﬁwmmm%
3K - 4C 3K + 4C
(@ 8K + 4C ) 6x -4cC
3K-2C 3K +2C
© 8K+ 2c @ Sk—2c
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90.

91.

92.

93.

%,

Probability distribution curve, fit wel] for
PERT analysis, is

(a) Normal distribution curve

(b) Beta distribution curve

(c) Unimodal curve

(d) None of the above

A cylindrical boiler 1.5 m diameter and
made up of 10 mm thick plate is subjected
to steam pressure of 2 N/mm2, The hoop
tension and longitudinal stresses will be

(a) 150 N/mm? and 75 N/mm?2

(b) 150 N/mm? and 150 N/mm?2

(c) 75 N/mm? and 75 N/mm?2

(d) 75 N/mm? and 150 N/mm?

Match List:- land List - II, and select the correct
answer using the codes in given below list.

. List-1 List - 11
1. Preliminary 1. Probable
| estimate variation for
quantity rate and
amount for each
) items
I, Revised estimate 2. Material deviation
of a structural
nature
i, Supplementary 3. Complete
_ estimate estimate
V. Quantity estimate 4. Approximate cost
of the project
Codes ;
i i i i
& 4 1 2 3
b) 4 2 1 3
© 3 1 2 /4
d 3 2 1 4

Two shatts of same length and material are
Joined in series. If the ratio of their dim:;?iz
is 2, then the ratio of their angles of

will be

(a) 2 (b) 4

() 8 (d) 16 G
The mortar used for masonry constﬂi‘;t“i’n
are clagsified based on Stren&w i
2950 and IS : 1905 according 10 e
Csignations L,, Ly, Hy, Hy, M, an o?,:heir
COrrect sequence of increasing 0rde”
{St)fength is
a'Ll' aH,H,M ansz
(b) L,, tf, Mlg, l\fl, Hl2 and H;
(€ Ly, L,, M}, My, H, and Hp
() pr M,, L,, Lo, H, and Hp

90.

al.
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92

93.

94,

ENGT - 03

‘PERT" firgrww & qft atg foe &1 a1l @l

Toreror =36 €

(a) TMT famor =56
(b) wer fyerwor =6

(c) THEITHS Th

(d) IR F F FYE 7

1.5 m M@ FT Th S@HR qFR (boiler)
10 mm A& @ A TR | W 2 N/mm?2H 1Y
%A1 A @ | §9 T T Sigeed ol 8

(a) 150 N/mm? @& 75 N/mm?2

(b) 150 N/mm?2 & 150 N/mm?

(¢) 75 N/mm? T 75 N/mm?

(d) 75 N/mm?2 Td 150 N/mm?

T - 1R el - 11 gl = qw A9 R
T H I FH 7€ IW G
-1 gqet- 11
i, TR SR 1, w0 R R
ke
. g Tfdr
i, WY S 2. HTHTTH SHRY 1
vt fem
Iv. SPIT 4. Wi Y S
Sl
He :
U | O T O
@ 4 1 2 3
b 4 2 1 3
€ 3 1 0 4
@ 3 2 1 4
3T R 2 e A
ilq&aﬁmm 22 7w jil
(a)zwmwm i
(b) 4
i‘:s @ 16
+ 2950 3R 1S : 1905 ¥ Rrré g 3
“ﬂ“*w*mmwh,%f

Hy M, shvm, 3
%‘ﬁlmﬁéa:g:t%mwtlmm
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LR

95.

96. The total number of grades of ordinary

97. A cast iron column of external diameter

98. The minimum width of tread without nosing

99. A simply supported beam of length 6 m

100. The water-cement ratio for ferrocement mix

A prismatic bar in compression has a cross-
sectional area A = 1200 mm? and carries a
load P = 90 kN. Normal and shear stresses
acting on a plane cut through the bar at
0 = 25°, are respectively

(a) 61.6 MPa and 28.7 MPa
(b) 49.5 MPa and 23.8 MPa
(c) 78.2 MPa and 20.7 MPa
(d) 73.4 MPa and 29.2 MPa

concrete stipulated in IS : 456 - 2000 are
(a) 10 : (b) 8
(c) 3 (d) 6

of 300 mm is 20 mm thick. Find safe
compressive load on column with factor
of safety of 5, if the crushing-strength of
material is 550 N/mm?

(a) 1925.21 kN (b) 1935.21 kN
(c) 1945.21 kN (d) 1955.21 kN

for staircase of residential building shall be
(a) 150 mm (b) 190 mm
(c) 200 mm (d) 300 mm

carries a point load at the centre of the beam
such that the maximum bending moment
there is 12 kN-m, if ‘ET’is the flexural rigidity
of the beam, the deflection at the centre is

9 18
g "W
36 45
(©) E (d) El

should be

(a) Less than 0.35

(b) Between 0.35 to 0.40
(c) Between 0.40 to 0.50
(d) Greater than 0.60

ENGT - 03

95. T wigfis g FdieT 7 8, frmes agyey vitese
&6 A = 1200 mm?2 YT P = 90 kN &I WK ford
R, T 7 1 T3 H 9 = 25° BT TWHRA &, |
sifera wfdeer qu aEqor Sfdeer o HF SFAT: B
(a) 61.6 MPa 3R 28.7 MPa
(b) 49.5 MPa 3K 23.8 MPa
(c) 78.2 MPa 31K 20.7 MPa
(d) 73.4 MPa 3R 29.2 MPa

96. IS : 456 — 2000 F FHR W F3hIC Hl FA

et A g
(a) 10 _ (b) 8
() 3 (d) 6

97. U HE WIg WFH 1 9181 418 300 mm & HIeTs
20 mm & | 39 W W Fifa wdifea R I
HR, Rre guan wes &1 um 5 § ¥ 3 garef
# fe9 (crushing) e 550 N/mm?2 8
(a) 1925.21 kN (b) 1935.21 kN
(c) 1945.21 kN (d) 1955.21 kN

98, ey wal ¥ ford At d R e B &

H =maw <terd gt
(a) 150 mm (b) 190 mm
(c) 200 mm (d) 300 mm

99. 6 m UM % WURW Wid 99 F g |

forg w58 e & R 6 Tt W weww T st

12 kN-m ® | i} o ) &= gear ‘BEr R, @ 3=

W faeT (deflection) ®
9

7 18
36 45
| (c) T (d) Bl

100. W= fogwr § w@@ ok dide 1 oga B |
wfed

(a) 0.35® =W
(b) 0.35 3f 0.40 % #i¥ i
(c) 0.40 3k 0.50 % #¥ !

(d) 0.60 & fr

-16-
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101.

102.

103.

104.

108.

106.

107,

When a body is subjected to a direct tensile
stress (p) in one plane accompanied by
a simple shear stress (q), the maximum
normal stress is

1 1

@ 250+ 44 ) T bt ad?
1 1

© S+ort-4a" (@ Z-=pP-ag’

The minimum depth of the reinforced bond
provided as strengthing arrangement in
masonry building is

(b) 60 mm

(a) 75 mm
(d) 40 mm

(c) 50 mm

A ductile structure is defined as one for which
the plastic deformation before fracture

(a) is smaller than the elastic deformation.
(b) vanishes

(c) is equal to the elastic deformation

(d) is much larger than elastic deformation

Technical term ‘Eaves’ is defined as

(a) The apex line of the sloping roof

(b) The lower edge of the inclined roof
surface

(c) Sloped triangular surface formed at the
end of a roof )

(d) The ridge formed by the intersection of
two sloping surfaces

rectangular
Toe frst moment of < SRR, ok
centre of gravity is '
b-h? b b
@) Ry
(c) Zero (d b-h?
The method suitable for measuring the

workability of dry concrete mix having s
low workability is

(a) Slump test

(b) Compaction factor test

(c) Vee-bee consistometer test

(d) Vicat test

the
The ratio of the stiffness of the ‘bem&n ?; the
near end when the far end is hing® d when
stiffness of the beam at the near €
the far end is fixed

4
@ 3 (b)

(c) 1 (d)

DI~ plw

101

102.

103.

104.

105.

106.

107.

-17-

ENGT - 03

. e wh fvg W & a@ W (p) o whowa au
e R (q) T EIT R, IHfershaw srfvrerrEd

wioee g
@) B+ 2o ) B gip7 4’

1 1 2
© 242V -4q? @ 5-5VP -4

s areft sl < A ser % Iuwl ¥ Ivafa

vafer w7 6 =R TEE
(a) 75 mm (b) 60 mm
(c) SO mm (d) 40 mm

Th q aee gfonfva 8, e gage feevom
Gftsd g1 | v
(a) TeaTEy frEqura @ 0 2t &

(b) T3 & Tt R
(c) Yearey ferEyuran & e Bt 2
(d) eIy foreTurar @ =) arftes Bt 2

qehHTh! Ieq ‘3os] qrowTfya fomam siram 2

(a) 3 B <t watew YT

(b) TRl ¥ BT Tz i Pt uw

(c) B4 % f=m R w g1 Hrenia wae

(d) < 51 wE ¥ sferedew qr & AT iy

' SeTé 3R b T e SRR e 1 e
5 % W Yo e S g

b-h*® b-h?
(a) —— g

0 (b)
(d) b-h?

Tt Tahie e Rt g € w9

SEER! G Y A R, A R A R
(a) T ¥

(b];@?mﬂﬁmiq
() - e 2
(d) fere ¥
;"‘aﬁﬁnmaﬁr@quwﬁmw
’@‘Wﬁimm'ﬁmmqwﬁn
o &, 1 s 2
@ 3 ) >

4
(©) 1 @ 1

2
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108.

109.

110.

111.

112.

; . 016
ding to National Building Code 2016,
ﬁ;.:: gfoég%f a ramp in the building shall NOT

exceed )
(@) 1in 12 ) 1in 10
(c) 1in 8 (d) 1in 6

The deflection at the free end of a cantilever
beam subjected to a couple ‘M’ at the free
end and having an uniform flexural rigidity
EP’ throughout its length L’ is equal to

L b ML
@ 251 (b) 3E%-
ML?
© Ser @) g

Match List — I and List — II, and select the
correct answer using the codes given below
the lists. ,
List -1 List - II
i. Index plan 1. Details of
plumbing service,
water supply and
sewage disposal
B system
ii. Key plan 2. Relative position
of all the different
units
iii. Service plan 3. General layout
of a new town
showing the
position of roads,
market, hospital,

parks etc.

iv. Layout plan 4. Details of the
Codes :

i il iii iv
(a) 4 3 2 ]
(b) 3 4 1 2
e} 3 4 2 4
(d 4 1 2 3

A three hinged arch ABC has a
and central rise of 4 m. The arcipilésofl 510 :;
at the end and at the centre. A train of tgw :
point loads of 20 kN and 10 kN, P ey
crosses this arch from left to right with 5 CI))kN
load leading. The maximum thrust jngy;ceq
at the support 18

(a) 25 kN (b) 32.81 kN

(c) 28.13 kN (d) 31.25 kN

A property fetch a net annyg] ;
X gO,(?OO /- after deducting 331 ;g:on}c of
Rate of interest is 6% per annum gomgtv,.
capitalized value of the prope ; t is
(a) T 13,33,600/-  (b) 9,60,

©F 16,63,500/- (d) X 9,33’900;_

111.

112.

-18-

109.

110.

ENGT - 03

108. TS wad gfgdr 2016 %+

gl § HenT B
mﬁmﬁﬂﬁmﬁm% ?

(a) 12 1 (b) 109 1
(c)8H 1 (d) 6% 1
@a@ﬂﬁ%gﬁﬁiwﬁmwmﬂﬁgﬁa
R M 7 e SR &, T Sge
s L %1 G 3T gedl EI'R 7
ML? ML?
®) 2EL (b} 3g;
2 ML?

ML

w—lﬁy@-xlaﬁgﬁ%aﬁamﬂ%ﬁﬁnﬁ
i&ﬂﬂ?ﬂﬂﬁaﬁsﬁ"{g%
= et - 11
l%w 1. 9137 AT WA,
Fet 3Myf 3T 7
foreameer 61 faagon
ii. e fomg w1 e 2. @t fafe g Y
. wmy feufa
iii. QAR HITFET 3. TH AL TR H
AT 3N YT

6 g =
iv. S T 4. U6 99y wem 1
feraoy

i il v
3 9 1
4 1 2
1 2 4
1 2 3

: &t a1t Az ABC

=% 4 m R | 20 kN 3R 1?&13%@%
¥R a9 S 9 5 m T et ot W 20 kN R
% 37 # 91 @ grff 3 uR st | 3% W wgan

(a) 25 kN (b) 32.81 kN
(c) 28.13 kN (d) 31.25 kN

T W9 & Tt e et 3w 80,00

;000 _(ﬂﬁ
a?r%awﬁaﬁan?maaﬁsmﬁz{ 69/4,31%
o 81 Hfr 1 Yol o w R
(8) ¥13,33,600/-  (b) ¥ 9,60,000,-
() ¥16,63,500/-  (q) % 9,33,900,-
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113. The influence line for Support reaction

114,

115,

116,

for the beam shown in figure will be ag
Hinge

C D
Re

A
hy

r—% yz e
(a) /m

3 dT
=

k¢ o
T

(b)

()

(d) M

~——_]10

Base of a paint is
(a) Linseed oil
(b) Poppy oil

(c) Sulphates of zinc and manganese

(d) White lead

A single bay portal frame of height ’ fixed
at the base is subjected to a horizontal

displacement ‘A’ at the top. The base moment

developed is proportional to
All members are prismatic.

I ; _]-,_
(a) -ﬁ (b] h2

() '1%3' (d) None of these

In steel structures, the thickness of the P2
plate in a column base is determined o e
() Flexural strength of plate

(b) Shear strength of plate

(c) Béaﬁng strength of concrete pedest?

(d) Pul'lChin-g criteria

115.

113.

114.

116.

ENGT - 03

fm & goR T v 7 & wRifen R, F Rl
B iciec B

Hinge

X

(d)

e I HTGR 2

(a) et qet

(b) T&Ew @
(clﬁﬁ;aﬂtﬂ:mqm
(d) ¥%g &g

G e e, R S} 9
it e ' 35 s smer w smag 21 300w
ST 9 o &

Wi o witfrp (prismatic) %
1 1
"3 ®) o3
(c) a2 |
h? (d) 3 9§ T
T Sy ¥, w

TN & AU F IR Fwd

(plate)aﬁmﬁqﬁmﬁmg

) B R (Fleural) wmved
) e 1wt s

(©) % L C S — it

() e (Punching) o
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AT, Which is the
in the following ?

1.0 0.0 1.07 1.0 0.0 0.0]
@ 10.0 1.0 0.0 1) |10 0.0 0.0
L1000 10] |10 0p 0.0,
(0.0 1.0 0.0] (1.0 0.0 0.0°
(©) 0.0 1.0 0.0 (d (0.0 1.0 0.0
LO'O 1.0 0.0_ 0.0 0.0 Jl.OJ
118. Ina ‘PERT analysis, if the Probability factor
is negative, the chances of completing the
Project in time is -
(a) Less than S0% (b) Fifty-fifty %
(c) More than S0% (d) Zero
119, Neglecting axial changes in lengths
etermine the kinematic indeterrmnacy of
the following frame ‘ABC?,
N £
A B B
77777
C
(a) 3 b) 2
(c) 1 d) 9
120. Match List -1 and List - I angq select correct
answer using the codes given below the
list.
) List - I List - 1
1. Building lease 1. The lease holder
' does not haye
right to Spend
money on
constructiop

ii. Occupational 2. The lease holder

lease can erect 5
building .

iii. Sub-lease 3. Duration of lease
1s Eilven unti}
death ;

iv. Life lease 4. The lease holder
may rende, lease
hold properw

Codes :

i ii iii iv
a 1 2 4 3
(d) 3 2 1 4
A

117. Fefefga & s smegg @

[1.0 0.0 1.0
(a) |0.0 1.0 0.0] (b
1.0 0.0 1.0
[’0.0 1.0 0.0
(¢) 0.0 1.0 0.0] (d)
0.0 1.0 0.0
118. T ‘PERT’ fivdwor & Rt &
a‘ttrﬂthama%mﬁqyf@ﬁ
(a) 50% & =x- (b)
(c) 50% @ fe (d) s

-20-

ﬁ’?%ﬁqaﬁ%%BC’EﬁﬂﬁE
A N
C
(a) 3 (b) 2
(¢) 1 (d) o
120. F@-I'@Hﬁ}—-ﬂaﬁg&%aq;
%wwmmmﬁ,
Tt -1 g
W &
" 3fere
1. SEEIRe ggy 2. wgren
Fafo
e 3. %
1v T’ﬁa:fmq?[ 4. 'S;-'Tné
Tt He
: < g%q
- T8
i ii iii iv
@ 1 2 4 3
(b) 2 1 4 3
(¢ 3 1 2 4
b 3 2 1 4
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{
. L?/-’/\x?
121. For a linear elastic structural system, 121. VdR YeATey SLEHTcHe Yomeh! 3, R et Y e
minimization of potential energy yields I (minimization) Bfetd grar Y74\
(a) Compatibility condition (a) W $ zm n
(b) Constitutive relationship . (b) 3P T _ ‘,\?\ ﬁj
(c) Equilibrium equations (c) WG THiT N A
(d) Strain displacement relations (d) f&‘i;ﬁ‘[ a8 grary
122. Part of brick which has half-header face and |-122. 3z %197 firean R sm-3 ¥a @ a2 M
half-stretcher face is known as ¥q e
(a) Bevelled closer (b) King closer (a) ¥TFE FEAK DREUE SIS
(c) Queen closer (d) Bat - (c) T TR (d) ¥
123. A horizontal beam is Shown below. The | 123. T i & 9 gaih 8 2 | R A Y 70 whey
distance of the point of contraflexure from 6t
the end ‘A’is ﬁi a‘ﬁ ¢ 10 kN
T 10 kN .
. . . l q:A B l
A B L 3 b C
E c ~Je 1.5m > % 05m >
Ne e R e—05m—
16 kN
16 kN .
(@) 0.333 m (b) 0.666 m | (a) 0.333 m (b) 0.666 m
(c) 1.50 m (d) 0.50m (c) 1.50 m (d) 0.50 m
124. The limit state of serviceability includes 124. ST HY Hio aveeen Iriq gt &
1. Deflection | 1. fago '
2. Repairable damage or crack due to ' 2. 7O A wf ity (fatigue) % Hrur
fatigue TR ; '
3. Vibration 3. %
4. Fire 4, o™
| ) Onlyland3 1y AQW 1ands . QFRLMS () w1 aa
* ©Only1,3and 4 (41, 2,3 and 4 CFL3Ma Q) 1,2,3 34
!.
E 125 Influence line ¢, 125. aﬁlﬁﬂmrﬁﬂmma;%a Yar
d es can TITER Y@ faRees g are
‘ e B S by T redundant structur g N :
. e
@) Castigliang’s theorem (@) ‘ g
o i b S rrr
3 (b) Unit loag theorem (b) m Wl'{!l&q
, () Mtller-Bregqy, prickipia (€) HER-SETS 7wy B . C ;;; /
(d) Maxwel]] Betss» : : (d) e A SqHY T TAY T ﬂ’ﬁ ’Z[L
etti’s reciprocal theorem
— o, LD e o 17
‘ N/ pg AP ki i e
A 3 X M < 2 [+ s |+Ay HL '-"‘j“"
4'}- | b\ 20 FH4, i
—, o
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